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CHEMISTRY

BOOKS - MTG CHEMISTRY (HINGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Nature Properties Of Matter And Their Measurements

1 Solid I Liquid II

Choose the correct statement about |, Il and IIl.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_z4JuhLKxUSUc

A. 1 and Il have definite volume but Ill does not have this

property

B.l, Il and Il are interconvertible by changing the

conditions of temperature by pressure.

C. In the particles of I, freedom of movement is large.

D. Both (a) and (b)

Answer:

° Watch Video Solution

2. Few quantities with their units are listed below. Mark the

units which are not correctly matched.

(i) Density : kg m =3


https://dl.doubtnut.com/l/_z4JuhLKxUSUc
https://dl.doubtnut.com/l/_j7W7MJ4uEc9c

(ii) Velocity of light : m s !

(iii) Planck's constant : J ~1s 1

(iv) Acceleration : ms 2

A. (ii) and (iv)
B. (i) and (iii)
C. (iii) and (v)

D. (iv) and (v)

Answer:

° Watch Video Solution

3. Match the prefixes present in coloumn | with their

multiples in coloumn Il and mark the appropriate choice.


https://dl.doubtnut.com/l/_j7W7MJ4uEc9c
https://dl.doubtnut.com/l/_ZlgQiiBCmFFs

Column I (Preﬁxééii . Column II (Multiples) “
- N 9 |

(A)

(B)
(C)

(D)

A.(A) — (i), (B) — (i), (C) — (iii), (D) — (iv)
B.(A) — (i), (B) — (i), (C) — (iv), (D) — (#i9)
C.(A) — (iv), (B) — (#i1), (C) — (3), (D) — (i)

D. (A) — (iii), (B) — (iv), (C) — (ii), (D) — (4)

Answer:

pico ~® w0 |

3 \

femto 777‘4’__1_(11) 107
milli” -
giga v

° Watch Video Solution

4. Mark the conversion factor which is not correct.



https://dl.doubtnut.com/l/_ZlgQiiBCmFFs
https://dl.doubtnut.com/l/_CHBS1cqLrmWV

A.1atm = 1.01325 x 10° pa
B. 1 metre =39.37 inches
C.1litre = 10 3m?

D.1inch =3.33 cm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CHBS1cqLrmWV

5. Consider the following figure,

M
100°C |H|-e—Boiling point—»
of water

212°F

Human bod

37°C |H|-<e—temperature —»[H| 98.6°F
Room o
25°C |W|<— temperature —»|u| 77°F

F 1 oint
0°C reezing poi 30°F
of water

Celsius Fahnheit

The correct relationship between fahrenheit and celsius

scale is


https://dl.doubtnut.com/l/_SYliiYjqXigG

A °F = °C + 273.15

2
B.°F = EOC—I— 16

9
C.°F = EOC’+32

1
D.°F = §°C+32

Answer:

o Watch Video Solution

Uncertainty Of Measurement

1. Few figures are expressed in scientific notation. Mark the

incorrect one.

A. 234000 = 2.34 x 10°


https://dl.doubtnut.com/l/_SYliiYjqXigG
https://dl.doubtnut.com/l/_UlMIN7GKqQ80

B. 8008 = 8 x 10°

C.0.0048 = 4.8 x 1073

D.500.0 = 5.00 x 102

Answer:

° Watch Video Solution

2. Markthe rule which is not correctly stated about

determination of significant figures.

A.Zeros preceding to first non-zero digit are not

significant.

B. Zero between two non-zero digits are not significant.


https://dl.doubtnut.com/l/_UlMIN7GKqQ80
https://dl.doubtnut.com/l/_7fdU8u0IMc2X

C. Zero at the end or right of the number are significant

if they are on the right side of decimal point.

D. All non - zero digits are significant.

Answer:

0 Watch Video Solution

3. Which of the following rules regarding the significant

figures and calculations involving them is not correct?

A.The result of an addition or subtraction is reported

to the same number of decimal places as present in

number with least decimal places.


https://dl.doubtnut.com/l/_7fdU8u0IMc2X
https://dl.doubtnut.com/l/_Ne5bhxhTkPbT

B. Result of multiplication or division should have same

number of significant figures as present in most

precise figure.

C.The result of multiplication or division should be

rounded off to same number of significant figures as

present in least precise figure.

D. The non-significant figures in the measurements are

rounded off.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Ne5bhxhTkPbT

4. The result of the operation 2.5 x 1.25 should be which

of the following on the basis of significant figures?

A.3.125

B.3.13

C.31

D. 31.25

Answer:

° Watch Video Solution

5. How many significant

0.010100 x 10° ?

figures

are

present

in


https://dl.doubtnut.com/l/_hlIm7rHn0uVK
https://dl.doubtnut.com/l/_UuiNJ7DYd8Io

A7

B.5

C.3

D.10

Answer:

o Watch Video Solution

6. What will be the answer in appropriate significant figures

as a result of addition of 3.0223 and 5.041?

A.80.633

B. 8.0633

C. 8.063


https://dl.doubtnut.com/l/_UuiNJ7DYd8Io
https://dl.doubtnut.com/l/_SA8P8y4Z7kc7

D. 806.33

Answer:

° Watch Video Solution

7. Which of the following is

measurement?

A.9m

B.9.0m

C.9.00m

D. 9.000m

Answer:

the most accurate



https://dl.doubtnut.com/l/_SA8P8y4Z7kc7
https://dl.doubtnut.com/l/_dhNMe6OmHH3B

l &J Watch Video Solution I

8. Which set of figures will be obtained after rounding up

the following up to three significant figures?

34.216, 0.04597,10.4107

A.34.3,0.0461,104

B.34.2,0.0460,10.4

C.34.20,0.460,10.40

D. 34.21,4.597,1.04

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dhNMe6OmHH3B
https://dl.doubtnut.com/l/_h20daS0vVrII

9. Which of the following option is not correct ?

A. 2.300+0.02017+0.02015=2.340
B. 126, 000 has 3 significant figures.
C.15.15us = 1.515 x 10 °s

D.0.0048 = 48 x 103

Answer:

° Watch Video Solution

10. What should be the volume of the milk (in m3) which

measures 5L?

A5 x 10 3m?


https://dl.doubtnut.com/l/_qkX4bJlSVctW
https://dl.doubtnut.com/l/_HGNnCRmKeloQ

B.5 x 10°m?

C.5 x 1000m?

D.5 x 106m?

Answer:

° Watch Video Solution

11. How many seconds are there in 3 days?

A. 259200 s

B. 172800 s

C. 24800 s

D. 72000 s


https://dl.doubtnut.com/l/_HGNnCRmKeloQ
https://dl.doubtnut.com/l/_OyUDEztejDXa

Answer:

° Watch Video Solution

12.18.72 g of a substance 'X' occupies 1.81 cm?. What will be
its density measured in correct significant figures?

A 10.3gcm_3

B. 10.34gcm 3

C.10.4gem 3

D. 10.3425gcm 3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OyUDEztejDXa
https://dl.doubtnut.com/l/_PqmdgzsQOcWk

Laws Of Chemical Combination

1.4.88 g of K(C1O3 when heated produced 1.92 g of O, and
2.96 g of KCl. Which of the following statements regarding
the experiment is correct?
A. The result illustrates the law of conservation of mass.
B.The result of illustrates the law of multiple
proportions.
C.The result illustrates the law of constant proportion.

D. None of the above laws is followed.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5CEas17xmGBQ

2. How much mass of silver nitrates will react with 5.85 g of

sodium chloride to produce 14.35 g of silver chloride and

8.5 g of sodium nitrates if law of conservation of mass is

followed?

A.2285¢g

B.108 g

C.1770¢g

D.28.70 g

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jIeycKp5Gm0S

3. What mass of hydrochloric acid is needed to decompose

50 g of limestone?

A.365¢g

B.73g

C.50¢g

D.100 g

Answer:

° Watch Video Solution

4. Which one of the following best explains the law of

conservation of mass ?


https://dl.doubtnut.com/l/_32RGIxPKc6Ok
https://dl.doubtnut.com/l/_05oxogFgh87b

A. 100 g of water is heated to give steam.

B. A sample of Ny gas is heated at constant pressure

without any change in mass.

C.36 g of carbon combines with 32 g of oxygen to form

68 g of CO,

D.10 g of carbon is heated in vacuume without any

change in mass.

Answer:

° Watch Video Solution

5. What mass of sodium chloride would be decomposed by

9.8 g of sulphuric acid if 12 g of sodium bisulphate and 2.75


https://dl.doubtnut.com/l/_05oxogFgh87b
https://dl.doubtnut.com/l/_qDoVVKdSy5Ny

g of hydrogen chloride were produced in a reaction?

A.1475g

B.38g

C.49¢g

D.22g

Answer: C

° Watch Video Solution

6. In an experiment 2.4g of iron oxide in reduction with
hydrogen gave 1.68 g of iron. In another experimet, 2.7 g of
iron oxide gave 1.89 g of iron on reduction. Which law is

illustrated from the above data?


https://dl.doubtnut.com/l/_qDoVVKdSy5Ny
https://dl.doubtnut.com/l/_DBq0WV7IYgff

A. Law of constant proportions

B. Law of multiple proportions

C. Law of reciprocal proportions

D. Law of conservation proportions

Answer:

° Watch Video Solution

7. The following data are obtained when dinitrogen and

dioxygen react together to form different compounds:

—————

~ Mass of dinitrogen | Mass of dioxygen
l4g g
8¢ | 3¢ |

28 ¢ 1 - 9%6¢g

|
-



https://dl.doubtnut.com/l/_DBq0WV7IYgff
https://dl.doubtnut.com/l/_ObhQuJwkIDeV

Which law of chemical combination is obeyed by the above

experimental data ?

A. Law of conservation of mass

B. Law of definite proportions

C. Law of multiple proportions

D. Avogadro's law

Answer: C

° Watch Video Solution

8. Which of the following statements indicates that law of

multiple proportion is being followed?


https://dl.doubtnut.com/l/_ObhQuJwkIDeV
https://dl.doubtnut.com/l/_gue4uLKkso5w

A.An element forms two oxides, XO and XO,

containing 50% and 60% oxygen respectively. The

ratio of masses of oxygen which combines with 1 g of

element is 2 : 3.

B. Hydrogen sulphide contains 5.89% hydrogen, water

contains 111% hydrogen and sulphur dioxyde

contains 50% oxygen.

C.3.47 g of BaCl, reacts with 2.36g of Nay SO, to give

3.88 of BaSO, and 1.95 g of NaCl.

D.20mL of ammonia gives 10 volumes of N, and 30

volumes of H; at constant temperature and

pressure.


https://dl.doubtnut.com/l/_gue4uLKkso5w

Answer: A

° Watch Video Solution

9. Which one of the following pairs of compound illustrates

the law of multiple proportion

A. HQO, NCLQO

B. MgO, NayO

C. Nay0O, BaO

D. SnCly, SnCly

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gue4uLKkso5w
https://dl.doubtnut.com/l/_Hi7H5jxFCWPt

10. The statements for laws of chemical combinations are

given below. Mark the option which is not correctly

matched.

A. Matter can neither be created nor destroyed: Law of

conservation of mass

B.A compound always contains exactly the same

proportions of elements by weight : Law of definite

proportions

C. When gases combine they do so in a simple ratio by

weight : Gay Lussac's Law

D. Equal volumes of gases at same temperature and

pressure contain same number of molecules:


https://dl.doubtnut.com/l/_ldLW1n5fSFGX

Avogadro's Law

Answer: C

o Watch Video Solution

11. Give below are few statements. Mark the statement

which is not correct.

A. Atoms are neigther created nor destroyed in a

chemical reaction.

B.Law of definite proportion state that a given

compound always contains exactly the same

proportion of elements by weight.


https://dl.doubtnut.com/l/_ldLW1n5fSFGX
https://dl.doubtnut.com/l/_QyMftVn2xmXm

C. Gay Lussac's law of chemical combination is valid for

all substances.

D.A pure compund has always a fixed proportion of

masses of its constituents.

Answer:

° Watch Video Solution

12. A balanced equation for combustion of methane is
given below:

CHy(4) + COz(4) — COy(4) + 2H50,

Which of the following statements is not correct on the

basis of the above chemical equation?


https://dl.doubtnut.com/l/_QyMftVn2xmXm
https://dl.doubtnut.com/l/_urxPra4fVZMC

A.One mole of CH, reacts with 2 moles of oxygen to

give one mole of CO5 and 2 moles of water.

B.One molecules of C'H, reacts with 2 molecules of

oxygen to give one molecule of CO, and 2 molecules

of water.

C.22.4 L of methane reacts with 44.8 L of oxygen to give

448 L of CO, and 22.4 L of water.

D. 16 g of methane reacts with 64 g of O, to give 44 g of

CO, and 36 g of water.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_urxPra4fVZMC
https://dl.doubtnut.com/l/_BlyOmXqYViDX

13. Which of the following law of chemical combination is

satisfied by the figure?

+ + %
1 volume of 1 volume of 1 volume of
hydrogen hydrogen oxygen

2 volumes of water vapour

A. Law of multiple proportion

B. Dalton's law

C. Avogadro law

D. Law of conservation of mass


https://dl.doubtnut.com/l/_BlyOmXqYViDX

Answer: C

° Watch Video Solution

14. Which of the following statements about Avogadro's

hypothesis is correct ?

A. Under similar condition of temperature and pressure,

gases react with each other in simple ratio.

B.Under similar conditions of temperature and

pressure, equal volume of all gases contain same

number of molecules.

C. At NTP all gases contain same number of molecules


https://dl.doubtnut.com/l/_BlyOmXqYViDX
https://dl.doubtnut.com/l/_23VOg7w8jJYL

D. Gases always react with gases only at the given

temperature and pressure.

Answer: B

o Watch Video Solution

Atomic And Molecular Masses

1. The reference standard used for defining atomic mass is

A. H-1

B. C-12

C.C13

D.C-14


https://dl.doubtnut.com/l/_23VOg7w8jJYL
https://dl.doubtnut.com/l/_cCDhoX4KJUMs

Answer: B

° Watch Video Solution

2. Are the atomic masses of some elements actually

fractional ?

A.They exist as a mixture of isotopes of different

masses

B. They contain impurities of other atoms

C. They are mixtures of isobars

D. They cannot be weighted accurately.

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_cCDhoX4KJUMs
https://dl.doubtnut.com/l/_K1uQ69XcQNp7

3. Oxygen occurs in nature as a mixture of isotopes
10,170 and 30 having masses of 15.995 u, 16.999 u and
17.999 u and relative abundance of 99.763%, 0.037% and
0.0200% respectively. What is the average atomic mass of
oxygen?

A.15.999 u

B. 16.999 u

C.17.999 u

D. 18.999 u

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_K1uQ69XcQNp7
https://dl.doubtnut.com/l/_aNIn5hcl1ALm

4. For every one 3"Cl isotopes there are three (I
isotopes in a sample of chlorine. What will be the average
atomic mass of chlorine?

A.35

B.37

C.355

D.35.6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_aNIn5hcl1ALm
https://dl.doubtnut.com/l/_w5ZNWGunCziG

5. Carbon occur in nature as a mixture of C' — 12 and

C — 13. Average atomic mass of carbon is 12.011 what is

the % abundance of C — 12 in nature ?

A. 0.889

B. 0.989

C.0.899

D. 0.799

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lWh14ChkY2HS

6. Packing of Na™ and Cl~ ions in sodium chloride is
depicted by the given figure. Choose the correct option

regarding formula mass of sodium chloride.



https://dl.doubtnut.com/l/_gVnYLW0WS2TD

A.In the solid, sodium chloride does not exist as a

single entity.

B. Formula mass of NaCl is 68.0 u.

C. Formula mass of NaCl is the sum of atomic masses of

Na and Cl

D. Both (a) and (c)

Answer:

° Watch Video Solution

Mole Concept And Molecular Masses

1. Which of the following formula is not correctly depicted ?


https://dl.doubtnut.com/l/_gVnYLW0WS2TD
https://dl.doubtnut.com/l/_w2N2seLioe3l

Mass of substance

A. Molar mass =
Moles of substance

B.Mass of one molecule of a substance

Gram molecular mass of the substance

Avogadro’s number
C. Number of molecules

Mass of the substance
= x Avogadro’s no.
Molar mass

D. Mole x Molar mass = Number of molecules

Answer: D

° Watch Video Solution

2. What is the mass of carbon dioxide which contains the
same number of molecules as are contained in 40 g of

oxygen?


https://dl.doubtnut.com/l/_w2N2seLioe3l
https://dl.doubtnut.com/l/_N7t9Yf0OJPZJ

A.40g

B. 55g

C.32g

D. 44g

Answer: B

° Watch Video Solution

3. Match the coloumn | with coloum Il and mark the

appropriate choice.


https://dl.doubtnut.com/l/_N7t9Yf0OJPZJ
https://dl.doubtnut.com/l/_NBMIaS80LEv3

A.(A) — (id), (B) — (i), (C) — (), (D) — (iis)
B.(A) — (4), (B) — (i), (C) — (i44), (D) — (iv)
C.(4) = (), (B) — (i), (C) — (2), (D) — (i)

D.(A) — (iv), (B) — (ii7), (C) — (ii), (D) — (i)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NBMIaS80LEv3
https://dl.doubtnut.com/l/_N4rYGfojNkCx

4.The number of oxygen atoms present in 1 mole of oxalic

acids dihydrate is

A 6 x 10?3

B. 6.022 x 10%*

C.7.22 x 10%

D. 36.13 x 10%

Answer: D

° Watch Video Solution

5. The measured density at NTP of He is 0.1784gL '

Calculate the weight of 1mole of He.


https://dl.doubtnut.com/l/_N4rYGfojNkCx
https://dl.doubtnut.com/l/_nxAeYqvRcxK7

A.399¢g

B.224 g

C.356g

D.29g

Answer:

° Watch Video Solution

6. Which of the following gases will have least volume if 10g

of each gas is taken at same temperature and pressure?

A.CO,

B. IV,

C.CH,


https://dl.doubtnut.com/l/_nxAeYqvRcxK7
https://dl.doubtnut.com/l/_6L4SUrVPIEJt

D. HCl

Answer: A

° Watch Video Solution

7. How many number of molecules and atoms respectively
are present in 2.8 liters of a diatomic gas at STP ?

A.6.023 x 10%, 7.5 x 10%

B.6.023 x 10*, 15 x 10?2

C.7.5 x 10?2, 15 x 10?2

D.15 x 10%2, 7.5 x 10?3

Answer: C

| - |


https://dl.doubtnut.com/l/_6L4SUrVPIEJt
https://dl.doubtnut.com/l/_rTqI60u7RQe7

l &J Watch Video Solution

8. Total number of atoms present in 34 g of NHj is

A 4 x 10

B.4.8 x 10%!

C.2 x 10%

D. 48 x 10%3

Answer: D

° Watch Video Solution

9. What will be the mass of 100 atoms of hydrogen?


https://dl.doubtnut.com/l/_rTqI60u7RQe7
https://dl.doubtnut.com/l/_W4mZ5UIZSGpp
https://dl.doubtnut.com/l/_DkpkiGgwb6ks

A.100g
B.1.66 x 10~ *%g
C.6.023 x 10%g

D. 100 x 6.023 x 10%%g

Answer: B

° Watch Video Solution

10. How many atoms in total are present in 1kg of sugar?

A.7.92 x 10*° atoms

B.6 x 10%® atoms

C.6.022 x 10%® atoms


https://dl.doubtnut.com/l/_DkpkiGgwb6ks
https://dl.doubtnut.com/l/_p3Wz3GdXdFw9

D. 1000 atoms

Answer:

° Watch Video Solution

1. 1.4 moles of phosphorus trichloride are present in a

sample. How many atoms are there in the sample?

A.56

B.34

C.2.4 x 10%®

D.3.372 x 10**

Answer: D

| - |


https://dl.doubtnut.com/l/_p3Wz3GdXdFw9
https://dl.doubtnut.com/l/_zSOoVPoMathg

l &J Watch Video Solution I

12. What will be the standard molar volume of He, if its

density is 0.1784 g/L at STP?

AT.2L

B.224 L

C.56L

D.28L

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zSOoVPoMathg
https://dl.doubtnut.com/l/_FpfUQYT77DAF

13. In a mixture of gases, the volume content of a gas is
0.06% at STP. Calculate the number of molecules of the gas
in 1L of the mixture.

A.1.613 x 10%

B.6.023 x 10

C.1.61 x 10%

D.1.61 x 10"

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1VZTJXU5i9iq

14. What will be the weight of CO having the same number

of oxygen atoms at present in 22 g of CO5?

A.28g

B.22g

C.44g

D.72g

Answer:

° Watch Video Solution

15. Match the mass of elements given in coloumn | with the

no. of moles given in column Il and mark the appropriate


https://dl.doubtnut.com/l/_H4AAikrDb624
https://dl.doubtnut.com/l/_basAWVCQNvYG

choice.

A (4) = (), (B) — (iit), (C) — (i1), (D) — (¢)
B.(A) — (4), (B) — (iis), (C) — (), (D) — (4v)
C.(4) = (i), (B) — (i), (C) — (i), (D) — (iv)

D. (A) — (1), (B) — (i), (C) — (iv), (D) — (i1)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_basAWVCQNvYG

16. Calculate the number of aluminium ions present in 0.051

g of aluminium oxide.

(Hint: The mass of an ion is the same as that of an atom of

the same element. Atomic mass of Al =27 u)

A. 6.023 x 10%° ions

B. 3 ions

C.6.023 x 10%% ions

D.9ions

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Kn0Ec8TVqx4W

17. Which of the following correctly represents 180 g of
water ?
5 moles of water
(ii) 10 moles of water
(iii) 6.023 x 10?3 molecules of water
(iv) 6.023 x 10%** molecules of water
A. (i) and (ii)
B. (i) and (iv)

C. (ii) and (iv)

D. (ii) and (iii)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wmyGhNGZcklL

18. How many oxygen atoms will be present in 88 g of CO,
?

A.24.08 x 10%

B.6.023 x 10°°

C.44 x 10%

D.22 x 10%*

Answer: A

° Watch Video Solution

19. Calculate the total number of electrons presentin 1.6 g

of methane


https://dl.doubtnut.com/l/_AgdQuBHo19XP
https://dl.doubtnut.com/l/_oAxNThDOu1Kf

A. 6.023 x 10%

B.16

C.12.04 x 10%

D. 6.023 x 10%*

Answer: A

° Watch Video Solution

20. A mixture having 2 g of hydrogen and 32 oxygen

occupies how much volume at NTP?

A. 448 L

B.224 L

CnatL


https://dl.doubtnut.com/l/_oAxNThDOu1Kf
https://dl.doubtnut.com/l/_loEVRuh98phA

D.76.2 L

Answer: A

° Watch Video Solution

21. One atom of an element weight 3.32 x 10~ * g. How
many number of gram atoms are in 20 kg of the element?
A. 2000
B. 20
C. 200

D. 1000

Answer:



https://dl.doubtnut.com/l/_loEVRuh98phA
https://dl.doubtnut.com/l/_R7sLDA102tX7

l &J Watch Video Solution I

22.Fill in the blanks by choosing the correct option.

v In terms of In terms of
- particles 1 Mole volume g
In terms of
mass
Y4

O Watch Video Solution

23. The mass of one mole of a substance in grams is called

its

A. Molecular mass

B. Molar mass


https://dl.doubtnut.com/l/_R7sLDA102tX7
https://dl.doubtnut.com/l/_NjDRetfwhUI2
https://dl.doubtnut.com/l/_dtno84eRh791

C. Avogadro's mass

D. Formula mass.

Answer: B

° Watch Video Solution

24.How much copper is present in 50 g of CuSOy,

A.1990 g

B.39.81g

C.635g

D.3171g

Answer: A

l o


https://dl.doubtnut.com/l/_dtno84eRh791
https://dl.doubtnut.com/l/_2TjnOxY7GMlh

I O Watch Video Solution

Percentage Composition

1.0.48 g of a sample of a compound containing boron and

oxygen contains 0.192 g of boron and 0.288 g of oxygen.
What will be the percentage composition of the
compound?

A.60% and 40% B and O respectively

B. 40% and 60% B and O respectively

C.30% and 70% B and O respectively

D. 70% and 30% B and O respectively

Answer: B


https://dl.doubtnut.com/l/_2TjnOxY7GMlh
https://dl.doubtnut.com/l/_Aqt0LXSlqi6l

° Watch Video Solution

2. A compound of magnesium contains 21.9% magnesium,

27.8% phosphorus and 50.3% oxygen. What will be the

simplest formula of the compound?

A. M92P207

B. MgPOg

C. Mgz.PQOQ

D. MgP204

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Aqt0LXSlqi6l
https://dl.doubtnut.com/l/_QJde8yxZpp1e
https://dl.doubtnut.com/l/_pDBmannk04rP

3. A compound contains two elements 'X' and 'Y' in the ratio

of 50% each. Atomic mass 'X' is 20 and 'Y' is 40. what can be

its simplest formula?

A. XY

B. X,V

C. XY,

D. X, Y5

Answer: B

° Watch Video Solution

4. The empirical formula of a compound is CH50,. What

could be its molecular formula?


https://dl.doubtnut.com/l/_pDBmannk04rP
https://dl.doubtnut.com/l/_lwK9074WvpGz

A. CQHQOQ

B. C, H,0,

C. 02H404

D.CH,0,

Answer: C

° Watch Video Solution

5. A gas has molecular formula (CH), . If vapour density of

the gas is 39, what should be the formula of the compound

?

B.CyH,


https://dl.doubtnut.com/l/_lwK9074WvpGz
https://dl.doubtnut.com/l/_GEn8uWlXMsyW

C. CQHQ

Answer:

° View Text Solution

6. Determine the molecular formula of an oxide of iron in

which the mass percent of iron and oxygen are 69.9 and

30.1, respectively.

A.FeO

B. F6304

C. F6203

D. F602


https://dl.doubtnut.com/l/_GEn8uWlXMsyW
https://dl.doubtnut.com/l/_PzeJHnVx1cQh

Answer:

° Watch Video Solution

7. An organic compound on analysis gave C=54.2%, H=9.2%

by mass. Its empirical formula is

A.CHO,

B.CH>O

C. C2H80

D. CLH,O

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_PzeJHnVx1cQh
https://dl.doubtnut.com/l/_liYf1vG0wuRO

8. The relative number of mass of elements, 'X' and 'Y' in a

compound is 025 and 0.5. The empirical formula of

compound is

A. XY

B. X,Y

C. XY,

D. X, Y,

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_a9gmiNmQsrTc

9. Two elements 'P' and 'Q' combine to form a compound.
Atomic mass of 'p'is 12 and 'Q" is 16. percentage of 'P' in the
compound is 27.3. What will be the empirical formula of the

compound ?

B. PQ

C. P,Q

D. PQ,

Answer:

° View Text Solution

Stoichiometry And Stoichiometry Calculations


https://dl.doubtnut.com/l/_Njj1EYDj3JAA

1. 1g of Mg is burnt in a closed vessel which contains
0.5gofO,
(i) Which reactants is left in excess
(ii) Find the mass of the excess reactant.
A. O, is a limiting reagent and Mg is in excess by 0.25 g.
B. Mg is a limiting reagent and is in excess by 0.5 g.

C. Oy is a limiting reagent and is in excess by 0.25 g.

D. O, is a limiting reagent and Mg is in excess by 0.75 g.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4Qg7T2amjq72

2. In a reaction container, 100g of hydrogen and 100 g of
Cl, are mixed for the formation of HCl gas. What is the
limiting reagent and how much HCl is formed in the
reaction ?

A. H, is limiting reagent and 36.5 g of HC| are formed.

B. Cl, is limiting reagent and 102.8 g of HCl are formed.

C. H, is limiting reagent and 142 g of HCl are formed.

D. Cl, is limiting reagent and 73 g of HCl are formed.

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_WriDdKvdrhHE

3.1f 40g of CaCOs is treated with 40g of HCl, which of the

reactants will acts as limiting reagent?

A. CaCOsg
B. HCI
C.Both (a) and (b)

D. None of these

Answer: A

° View Text Solution

4. The weight of AgCl precipitated when a solution

containing 5.85 g of NaCl is added to a solution containing


https://dl.doubtnut.com/l/_zR1gRvttWvSx
https://dl.doubtnut.com/l/_nSqnZIVMNW5h

34g of AgNOs is

A.28g

B.9.25g

C.2.870g

D. 58g

Answer: C

° View Text Solution

5. How much oxygen is required for complete combustion

of 560 g of ethene?

A.64 kg


https://dl.doubtnut.com/l/_nSqnZIVMNW5h
https://dl.doubtnut.com/l/_51j7n4Bdo9MV

B.1.92 Kg

C.28kg

D.9.6 kg

Answer:

° View Text Solution

6. How many moles of oxygen gas can be produced during

electricity decomposition of 180 g of water ?

A. 2.5 moles

B. 5 moles

C.10 moles

D. 7 moles


https://dl.doubtnut.com/l/_51j7n4Bdo9MV
https://dl.doubtnut.com/l/_yKV6Ewq7iQjg

Answer:

° View Text Solution

7. How many grams of C'aO are required to neutralise 852g

of P40y ? Draw the structure of P;O,.

A. 852g

B. 1008g

C.85g

D. 7095g

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yKV6Ewq7iQjg
https://dl.doubtnut.com/l/_cvqxCTFQZgMV

8. What volume of dioxygen is required for complete

combustion of 2 volume of acetylene gas at NTP ?

A. 2 volumes

B. 5 volumes

C. 10 volumes

D. 4 volumes

Answer:

° View Text Solution

9. What quantity of copper(ll) oxide will react 2.80litre of

hydrogen at NTP


https://dl.doubtnut.com/l/_YDycK2M24tDH
https://dl.doubtnut.com/l/_CjXLb7Fq2PQD

A.795¢g

B.2g

C.99g

D.224g

Answer:

° Watch Video Solution

10. At NTP, 1L of O, reacts with 3L of carbon monoxide.

What will be the volume of CO and CO, after the reaction?

A. 1L CO,, 1L CO

B.2L CO,, 2L CO

C.1L CO,, 2L CO


https://dl.doubtnut.com/l/_CjXLb7Fq2PQD
https://dl.doubtnut.com/l/_K0DiBuiCIcvs

D.2L CO,, 1L CO

Answer:

° View Text Solution

11. Calcium carbonate decomposes on heating to give
calcium oxide and carbon dioxide. How much volume of
CO; will be obtained by thermal decomposition of 50g
CaCO5?

A 1L

B.1.2L

C.44 L

D.224 L


https://dl.doubtnut.com/l/_K0DiBuiCIcvs
https://dl.doubtnut.com/l/_BLkzjUkodC9Q

Answer:

° View Text Solution

12. Chlorine gas is prepared by reaction of HyS0O, with
MnQOy and NaCl. What volume of Cl, will be produced at
STP if 50 g of NaCl is taken in the reaction ?

A 1915L

B.224 L

CnatL

D.9.57 L

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_BLkzjUkodC9Q
https://dl.doubtnut.com/l/_T4QTv60BbZ89

13. HCl is produced in the stomach which can be
neutralised by Mg(OH), in the form of milk of magnesia.
How much Mg(OH), is required to neutralise one mole of
stomach acid?

A.2916 g

B.343 g

C.5833 g

D. 68.66g

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_T4QTv60BbZ89
https://dl.doubtnut.com/l/_MjVBoaVKTBn8
https://dl.doubtnut.com/l/_BhhFAX5d67a8

14. Magnetite, Fe30,, can be converted into metallic iron
by heating with carbon monoxide as represented by this
equation:

Fe304(s) + CO(g) — Fe(s) + COs(g)

The kilograms of Fe30O,4 which must be processed in this
way to obtain 5.00kg of iron, if the process is 85 % efficient

is closest to? [M: = Fe = 56]

A.812 kg
B.4.14 kg
C.6.94 kg

D. 16.8 kg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BhhFAX5d67a8

15. What is the mass percent of oxygen in ethanol ?

A.0.5214

B.0.1313

C.0.16

D.0.3473

Answer:

O View Text Solution

16. How much mass of sodium acetate is required to make

250 mL of 0.575 molar aqueous solution?


https://dl.doubtnut.com/l/_BhhFAX5d67a8
https://dl.doubtnut.com/l/_YnUdIMNdA2ZC
https://dl.doubtnut.com/l/_Ktw8eztYczIO

A 11.79g

B.1538 g

C.1081g

D.2535g

Answer:

° View Text Solution

17. A solution is prepared by adding 5g of a solute 'X' to 45

g of solvent 'Y'. What is the mass percent of the solute X' ?

A. 01

B. 0.111

C.0.9


https://dl.doubtnut.com/l/_Ktw8eztYczIO
https://dl.doubtnut.com/l/_KUx7bHyorByc

D.0.75

Answer: A

° View Text Solution

18. A 1.50g sample of an ore containing silver was dissolved
and all of the Ag™ was converted to 0124 g of Ag,S. What
was the percentage of silver in the ore?

A.14.23%

B.8.27%

C.10.8%

D.7.2%


https://dl.doubtnut.com/l/_KUx7bHyorByc
https://dl.doubtnut.com/l/_y4g0tjql8VEK

Answer: D

° Watch Video Solution

19. 2.82g of glucose is dissolved in 30g of water. The mole

fraction of glucose in the solution is

A.0.01

B.0.99

C.0.52

D. 1.66

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_y4g0tjql8VEK
https://dl.doubtnut.com/l/_Bmb1gwL8kBbj

20. What volume of water is to be added to 100 cm? of

0.5M NaOH solution to make it 0.1 M solution?

A. 200cm?®

B. 400cm?

C. 500cm?

D. 100cm?

Answer:

° View Text Solution

21. The final molarity of a solution made by mixing 50 mL of

0.5 M HCI, 150 mL of 0.25 M HCl and water to make the


https://dl.doubtnut.com/l/_1byddMXM8avz
https://dl.doubtnut.com/l/_I5fx9fecdQl2

volume 250 mL is

A.O5M

C.075M

D.0.25M

Answer: D

° Watch Video Solution

22. A solution is made by dissolving 49g of HyS0, in 250

mL of water. The molarity of the solution prepared is

A2M


https://dl.doubtnut.com/l/_I5fx9fecdQl2
https://dl.doubtnut.com/l/_3as2FnwTFAPP

B.1TM

C.4M

D.5M

Answer:

° View Text Solution

23. What is the concertration of copper sulphate (in mol
L_l) if 80 of it is dissolved in enough water to make a final
volume of 3 L?

A. 0.0167

B. 0.167

C. 1.067


https://dl.doubtnut.com/l/_3as2FnwTFAPP
https://dl.doubtnut.com/l/_khZxlrx5UOOp

D.10.67

Answer:

° View Text Solution

24. 4.28g of NaOH is dissolved in water and the solution is

made to 250 cc. what will be the molarity of the solution ?

A. 0615 mol L1

B.0.428 mol L1

C.0.99 mol Lt

D. 0301 mol L1

Answer:



https://dl.doubtnut.com/l/_khZxlrx5UOOp
https://dl.doubtnut.com/l/_wEFU7WjBPZHn

l @ View Text Solution I

25. What volume of 5M Na, S0, must be added to 25 mL of

M BaClly to produce 10 g of BaSO, ?

A.8.58 mL

B.7.2 mL

C.10 mL

D.12 mL

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_wEFU7WjBPZHn
https://dl.doubtnut.com/l/_drfKLAigdUxN

26. What will be the molarity of the solution in which 0.365

g of HCl gas is dissolved in 100 mL of solution ?

A2M

B.O2 M

C1M

D.0O.1M

Answer: D

° View Text Solution

27. What will be the molality of the solution made by

dissolving 10 g of NaOH in 100g of water ?


https://dl.doubtnut.com/l/_FVvTy6bW3NMY
https://dl.doubtnut.com/l/_QCXP94Q50qkD

A.25m

B.5m

C.10m

D.125m

Answer: A

° View Text Solution

28. What will be the molarity of chloroform in the water

sample which contains 15 ppm chloroform by mass?

A.1.25 x 10 4 m

B.2.5 x 10 *m

C.1.5 x 10 ®m


https://dl.doubtnut.com/l/_QCXP94Q50qkD
https://dl.doubtnut.com/l/_IM5pV92RULsx

D.1.25 x 10 °m

Answer:

° View Text Solution

1. Which mode of concentration does not change with

temperature ?

A. Molarity

B. Normality

C. Molality

D. All of these


https://dl.doubtnut.com/l/_IM5pV92RULsx
https://dl.doubtnut.com/l/_u55yPDEbG5O8

Answer: C

° View Text Solution

Higher Order Thinking Skills

1. 45.4L of dinitrogen reacted with 22.7L of dioxygen and

454 L of nitrous oxide was formed the reaction is given

below

2N5(g) + O2(g) — 2N>0(g)
Which law is being obeyed in this experiment? Write the
statement of the law?

A. Gay Lussac's law

B. Law of definite proportion


https://dl.doubtnut.com/l/_u55yPDEbG5O8
https://dl.doubtnut.com/l/_mg4VQrz4iufe

C. Law of multiple proportions

D. Avogadro's law

Answer:

° Watch Video Solution

2. Hydrogen gas is prepared in the laboratory by reacting
dilute HCl with granulated zinc, Following reaction takes
place

Zn + 2HCl — ZnCly + H,

Calculate the voluem of hydrogen gas liberated at STP
when 32.65 g of zinc reacts with HCIl. 1 mol of a gas occupies

22.7 L volume at STP, atomic mass of Zn=65 .3u

A.10.03 L


https://dl.doubtnut.com/l/_mg4VQrz4iufe
https://dl.doubtnut.com/l/_7yC2FJfxqYRQ

B.11.35L

C.N1n57L

D.9.53L

Answer:

° Watch Video Solution

3. Chemical reactions involve interaction of atoms and
molecules. A large number of atoms and molecules
(approximately 6.022 x 10%%) are present in a few grams of
any  chemical compound varying  with their
atomic/molecular masses. To handle such a large number
conveniently, the mole concept was introduced. This

concept has implications in diverse areas such as analytical


https://dl.doubtnut.com/l/_7yC2FJfxqYRQ
https://dl.doubtnut.com/l/_nQNClangtIue

chemistry, biochemistry, electrochemistry adn
radiochemistry. The following examples illustrate a typical
case involving chemical/electrochemical reaction which
requires a clear understanding of mole concept.

A 4.0 molar aqueous solution of NaCl is prepared and 500
mL of the solution is electrolysed. This lead to the
evolution of chlorine gas at one of electrodes (atomis mass
: Na=23,Hg =200, 1F = 96500 C)

The total number of moles of chlorine gas evolved is :

A.05

B. 1

C.2

D.3

Answer:


https://dl.doubtnut.com/l/_nQNClangtIue

° Watch Video Solution

4. Chemical reactions involve interaction of atoms and
molecules. A large number of atoms and molecules
(approximately 6.022 x 10%) are present in a few grams of
any  chemical compound varying  with  their
atomic/molecular masses. To handle such a large number
conveniently, the mole concept was introduced. This
concept has implications in diverse areas such as analytical
chemistry, biochemistry, electrochemistry adn
radiochemistry. The following examples illustrate a typical
case involving chemical/electrochemical reaction which
requires a clear understanding of mole concept.

A 4.0 molar aqueous solution of NacCl is prepared and 500

mL of the solution is electrolysed. This lead to the


https://dl.doubtnut.com/l/_nQNClangtIue
https://dl.doubtnut.com/l/_pgGibtn6uoen

evolution of chlorine gas at one of electrodes (atomis mass
: Na =23, Hg =200, 1F = 96500 C)
If the cathode is a Hg electrode, the maximum weight (g) of
amalgam formed from the solution is :

A. 200

B. 225

C. 400

D. 446

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pgGibtn6uoen

5. The total charge (coulombs) required for complete

electrolysis is

A. 24125

B. 48250

C. 96500

D. 193000

Answer:

° View Text Solution

6. A compound on analysis was found to contain the

following composition :


https://dl.doubtnut.com/l/_9Pb0njkmULG6
https://dl.doubtnut.com/l/_Dj3HcFeyUlxv

Na =1431%,58=9.97%,0 = 69.50 % and H = 6.22%
Calculate the molecular formula of the compound
assuming that the whole of hydrogen in the compound is
present as water of crystallisation. Molecular mass of the
compound is 322.

A. NCI,QSO4

B.NCLQSO4. 10H20

C. NCI,2SH10012

D. NCI,QSO4. 7H20

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Dj3HcFeyUlxv

7. The reactant which is entirely consumed in reaction is
known as limiting reagent. In the reaction
2A + 4B — 3C + 4D, when 5 moles of A react with 6
moles of B, then
(a) which is the limiting reagent?
(b) calculate the amount of C formed?

A.C, 4.5 mol

B. B, 4.5 mol

C. B, 3.5 mol

D. C, 4.0 mol

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EOPDdTbunWDN

8. The density of 3 molal solution of NaOH is 1110g mL .
Calculate the molarity of the solution.

A 269 M

B.297 M

C.457M

D.6.70 M

Answer: B

° Watch Video Solution

9. 1L of 0.1MNaOH,1L of 0.2MKOH, and 2L of

0.06MBa(OH), are mixed togther. What is the final


https://dl.doubtnut.com/l/_v3dSINr9rj4V
https://dl.doubtnut.com/l/_2VK6AuBYgBNa

concentration of the solution.

A.0.01 M

B.0.0TN

C.01N

D.0.001 M

Answer:

° Watch Video Solution

Ncert Exemplar

1. Two students performed the same experiment separately

and each one of them recovered two readings of mass


https://dl.doubtnut.com/l/_2VK6AuBYgBNa
https://dl.doubtnut.com/l/_wfwfglInbUoB

which are given below. Correct reading of mass is 3.0 g. On
the basis of given data, mark the correct optioin out of the

following statements.

) (0] ()]
A 3 2.99
8 3.05 2.95

A. Results of both the students are neither accurate nor

precise.

B. Results of student A are both precise and accurate.

C. Results of student B are neither precise nor accurate.

D. Results of student B are both precise and accurate.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wfwfglInbUoB

2. What will be the molarity of a solution, which contains
5.85g of NaCl(s) per 500mL?

A.4mol L}

B.20 mol L™ *

C.02mol L1

D.2 mol L1

Answer:

° Watch Video Solution

3. If 500mL of a 5M solution is diluted to 1500 mL, what will

be the molarity of the solution obtained?


https://dl.doubtnut.com/l/_wfwfglInbUoB
https://dl.doubtnut.com/l/_ke9hrzrIz1TU
https://dl.doubtnut.com/l/_vIGaxru0IRNA

A15M

B.1.66 M

C.0.017 M

D.159 M

Answer:

° Watch Video Solution

4.The number of atoms present in one mole of an element
is equal to Avogadro number. Which of the following
elements contains the greatest number of atoms ?

A. 4 g He

B.46 g Na


https://dl.doubtnut.com/l/_vIGaxru0IRNA
https://dl.doubtnut.com/l/_S4vJbuw7qHW8

C.04 g Ca

D.12 g He

Answer:

° Watch Video Solution

5. If the concentration of glucose (CgH1304) in blood is
0.9 g L™, what will be the molarity of glucose in blood?
A5M
B.50 M
C.0.005 M

D.O5SM


https://dl.doubtnut.com/l/_S4vJbuw7qHW8
https://dl.doubtnut.com/l/_Qsg0S2a7jWU7

Answer:

° Watch Video Solution

6. What will be the molality of the solution containing 18.25

g of HCl gas in 500 g of water ?

A.O1m

B.1TM

C.05m

D.1Tm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Qsg0S2a7jWU7
https://dl.doubtnut.com/l/_siausrnEoAz0

7. One mole of any substance contains 6.022 x 10%
atoms/molecules. Number of molecules of Hy SO, present
in 100mL of 0.02M H,S50y solution is

A.12.044 x 10%

B.6.022 x 10%

C.1x 10%

D.12.044 x 10?3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Db42k0zNYCLh

8. The empirical formula and molecular mass of a

compound are CH50O and 180 g respectively. What will be

the molecular formula of the compound ?

A. Cnggog

B.CH,O

C. 06H1206

D. C2H402

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cWrXnI2DZleI

9.If the density of a solution is 3.12¢g mL_l, the mass of 1.5
mL solution in significant figures is

A47g

B.4680 x 10 % g

C.4680g

D.46.80 g

Answer: A

° Watch Video Solution

10. Which of the following statements about a compound is

incorrect ?


https://dl.doubtnut.com/l/_d16Hl7ek01kO
https://dl.doubtnut.com/l/_AnPJXrGd2xSU

A. A molecule of a compound has atoms of different

elements.

B. A compound cannot be separated into its constituent

elements by physical methods of separation.

C.A compound retains the physical properties of its

constituents elements.

D.The ratio of atoms of different elements in a

compound is fixed.

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_AnPJXrGd2xSU

1. Which of the following statements is correct about the

reaction given below:-
4Fe(s) + 305(g) — 2Fe303(g)

A. Total mass of iron and oxygen in reactants = total
mass of iron and oxygen in product, therefore, it
follows law of conservation of mass.

B. Total mass of reactant = total mass of product,
therefore, law of multiple proportions is followed.

C. Amount of F'e;O3 can be increased by taking any one
of the reactants (iron or oxygen ) in axcess.

D. Amount of FeyO3 produced will decreased if the

amount of any one of the reactants (iron or oxygen )


https://dl.doubtnut.com/l/_mBbiOYKNo5RC

is taken in excess.

Answer:

° Watch Video Solution

Assertion And Reason

1. Assertion: On heating, a solid usually change to a liquid

and the liquid on further heating change to the gaseous
state.
Reason : Arrangement of constituent particles is different

in solid, liquid and gaseous state.


https://dl.doubtnut.com/l/_mBbiOYKNo5RC
https://dl.doubtnut.com/l/_39iaWlqMl8Sr

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° View Text Solution

2. Assertion : Components of a homogeneous mixture
cannot be separated by using physical methods

Reason : Composition of homogeneous mixture is uniform


https://dl.doubtnut.com/l/_39iaWlqMl8Sr
https://dl.doubtnut.com/l/_yjDW6KzOpJLH

throughtout as the components react to form a single

compound.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yjDW6KzOpJLH

3. Assertion: Elements and compound are the examples of

pure substances.

Reason : The properties of a compound are different from

those of its constituent elements.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_YYUg27xnPBol

4. Assertion : Temperature below 0° C'is possible on celsius
scale but in Kelvin scale negative temperature is not
possible

Reason : The Kelvin scale is related to celsius scale as

K=."C-273.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:


https://dl.doubtnut.com/l/_YYUg27xnPBol
https://dl.doubtnut.com/l/_NqQ0MOUgMnIO

° Watch Video Solution

5. Assertion: Scientific notation for the number 100 is
expressed as 1 x 107
Reason : The number 1 x 10? has two significant figures.
A. If both assertion and reason are true and reason is
the correct explanation of assertion
B. If both assertion and reason are true but reason is
not correct explanation of assertion.
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:



https://dl.doubtnut.com/l/_NqQ0MOUgMnIO
https://dl.doubtnut.com/l/_HLwFHPnKt2L4

| o View Text Solution

6. Assertion: Matter can neither be created nor be

destroyed.

Reason : This is law of definite proportions.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

| & o |


https://dl.doubtnut.com/l/_HLwFHPnKt2L4
https://dl.doubtnut.com/l/_AkkfL7YXYauh

[ W View Text Solution ]

7. Assertion(A) One atomic mass unit is defined as one

twelth of the mass of one carbon-12 atom.

Reason(R) Carbon-12 isotope is the most abundant isotope

of carbon and has been chosen as standard.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:


https://dl.doubtnut.com/l/_AkkfL7YXYauh
https://dl.doubtnut.com/l/_pwbpyJPch3Os

° Watch Video Solution

8. Assertion: Molecular formula shows the exact number of
different types of atoms present in a molecule of a
compound.
Reason : Molecular formula can be obtained directly from
empirical formula which represents the simplest whole
number ratio of various atoms present in a compound.

A. If both assertion and reason are true and reason is

the correct explanation of assertion
B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.


https://dl.doubtnut.com/l/_pwbpyJPch3Os
https://dl.doubtnut.com/l/_cZox8dj1IvjO

D. If both assertion and reason are false.

Answer:

° View Text Solution

9. Assertion: The reactant which is present in large amount
limits the amount of product formed is called limiting
reagent.

Reason : Amount of product formed does not depend upon

the amount of reactants taken.

A. If both assertion and reason are true and reason is

the correct explanation of assertion


https://dl.doubtnut.com/l/_cZox8dj1IvjO
https://dl.doubtnut.com/l/_fKvV75OdSalC

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° View Text Solution

10. Assertion: In laboratory, a solution of a desired
concentration is prepared by diluting a stock solution.
Reason : Stock solution is the solution of higher

concentration.


https://dl.doubtnut.com/l/_fKvV75OdSalC
https://dl.doubtnut.com/l/_ZI20lUsMt9Hz

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not correct explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZI20lUsMt9Hz

